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QUESTION 1

Your business has access to on-premises applications and decides to distribute some of the workload onto a public
cloud provider. 

In this scenario, what is this architecture called? 

A. hybrid cloud 

B. public cloud 

C. community cloud 

D. private cloud 

Correct Answer: A 

 

QUESTION 2

OnCommand Cloud Manager would be used to manage which three NetApp storage resources? (Choose three.) 

A. NetApp All Flash FAS (AFF) 

B. NetApp Cloud Volumes ONTAP 

C. NetApp StorageGRID 

D. NetApp Private Storage (NPS) 

E. NetApp HCI 

Correct Answer: ABD 

 

QUESTION 3

Which two StorageGRID features provide data durability for large unstructured datasets? (Choose two.) 

A. erasure coding 

B. storage tiering 

C. object replication 

D. S3 API compatibility 

Correct Answer: BC 

 

QUESTION 4
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What is the primary interface to manage a NetApp HCI cluster? 

A. VMware vCenter 

B. OnCommand System Manager 

C. OnCommand Unfired Manager 

D. VMware Horizon 

Correct Answer: A 

 

QUESTION 5

Which statement is true regarding application containerization? 

A. Application containerization requires the Linux operating system. 

B. Application containerization provides increased portability. 

C. Application containerization increases performance of virtual machines. 

D. Application containerization is designed for massive data sets. 

Correct Answer: B 
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